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ENGLISH VERSION

1 (a) Explain partial connection with an example. 10
(b) Explain Multiple Regression. 10

OR
1 (a) Prove that : 10

bips - by3y b312 = 123 " 131 1312

(b) If 712 =0.6,73 =73 =05, 5y =2, 5 =53 =3 find 753 10
and R12‘3.
2 (a) Explain Baye's theorem. 10
(b) An example of statistics is given to 3 students A, B, C. 10
. ) 131
Their chances of solving that example is ERR
respectively. Find the probability that the example will be

solved.
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2  (a) Inusual notation prove that. 10
() E(xw)=E(x)E(y)
(i) E(x+y)=E(x)+E(»).
(b) From the following prob - distribution, find, K, E(x), V(x), 10
V(5x) :

x [ 1516 [17]18 [19] 20
P(x) [0.04 [0.19 |3k [0.26 | K | 0.07

3 (a) Write properties of Poisson distribute. 8
(b) State the properties of hyper - Geometric distribution. 7
OR

3 Fit a Poisson distribution for the following data : (6_4 = 0-0183). 15

x |01 |23 [|4]5(6/7(8[9]|10
1141512212120 (8({6[2]0]| 1

4  In a normal distribution 31% of the observation are less than 15
45 and 8% are more than 64. Find mean of SD of the distribution.
OR
4 (a) Write properties of normal distribution. 8
(b) Explain Beta Distribution. 7
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